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759 &%) (Brownian motion)
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Tp+1 = Tp +E&n
Yn+1 = Yn + Cn ,

(&i&) = (GiGj) = {g 8 ;j;

EE2REMLEHRURER

(n=0,1,2,...)

BZl t, = nAt TO
PIFDRE: (20, Yn)
RFDTF LIS

() FtgERT

@2 +y2) = ((Co+&+  +&1)?+ (CQ+G+ +C1)?)

= (&) + &N+ + (&)

— 2no?

2 2 2
iR D= =Y

+{CE) + (Y + -+ ()
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IS RFDRE (Tn, Yn) (n=01,...,N)ELE
L. WO DEEI DT T ILEES

BHU TN EI2E/Efr: =22 + 2 %518 T3

Sample 1 Sample 2

A A
4 Y& N\

n X1 yl r1A2 X2 y2 r2A2
0 0 0 0
1 0.289772 0.185654 0.118435
2 -0.95122 -1.5858 3.419576
3 -1.52172 -1.97328 6.209484
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1
(ra) = 37 (@0 + v+ (n +vp)2 + -+ (2 +vp) ]

T 2| EMERZ ¢, = nAt [2XRLTTOVERL.
ggu:ﬁ'd'éiﬁwlﬁﬁd)ﬂﬁ%b\B?Iﬁjﬁiﬂl{%%éﬂ’é?]?
At =1 EThIE.

(r?)  (slope of the fitting line)

D: -
4n 4
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Brownian motion mean square displacement
3000
2500 }
2000 y =2.0477x F
8 1500 -
samplel v — gVerage
e sample2 1000 —— #R ¥ (average)
. sample3 500 %j
60 e sampled 0 - . . .
sample5 0 500 1000 1500
time
2.0477
D = 1 =0.51193 5
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